Exponential Regression – NASCAR Payouts 1990-2003

Model:  E(Y) = X        where X=0 for 1990
Transformation:  log(E(Y)) = log() + Xlog() = X

Note:  eand   e

Fit Regression with DV=log(Y)  and IV=X    a* = _______  b* = ________

Transforming back:   a = ________________    b= _______________

Estimated Regression Equation:  _____________________________

Predicted Value for 2003 (X=13) ___________________________
Typical Growth Rate per Year ____________________________
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naswin

		1975		2.41		4.48		1.5		1

		1976		3.42		6.01		1.79		2

		1977		3.59		5.92		1.78		3

		1978		3.94		6.04		1.8		4

		1979		4.92		6.78		1.91		5

		1980		5.41		6.57		1.88		6

		1981		6.01		6.61		1.89		7

		1982		7.08		7.34		1.99		8

		1983		7.4		7.43		2.01		9

		1984		8.58		8.26		2.11		10

		1985		9.06		8.42		2.13		11

		1986		10.4		9.49		2.25		12

		1987		10.91		9.6		2.26		13

		1988		11.88		10.04		2.31		14

		1989		12.83		10.35		2.34		15

		1990		14.36		10.99		2.4		16

		1991		15.46		11.35		2.43		17

		1992		18.21		12.98		2.56		18

		1993		21.06		14.57		2.68		19

		1994		26.32		17.76		2.88		20

		1995		33.34		21.88		3.09		21

		1996		38		24.22		3.19		22

		1997		48.68		30.33		3.41		23

		1998		66.5		40.8		3.71		24

		1999		77.43		46.48		3.84		25

		2000		85.37		49.58		3.9		26

		2001		117.86		66.55		4.2		27

		2002		129.12		71.77		4.27		28

		2003		143.7		78.1		4.36		29






